4.NBT.5 TESTB Multiply a whole number of up to four digits

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1.67 X 26 =

a. 2,742 c. 1,845

b. 1,644 d. 1,742
2.5,786 X6 =

a. 34,716 c. 34,826

b. 34,726 d. 33,776
3.7,182 X4 =

a. 32,125 c. 31,128

b. 33,128 d. 32,128
4.7,846 X2 =

a. 15,692 c. 16,689

b. 25,692 d. 15,592
5.8,214 X 4 =

a. 31,456 c. 32,856

b. 33,556 d. 31,856
6.89 X 36=

a. 3,214 c. 2,204

b. 3,204 d. 3,224
7.63X51=

a. 2,231 c. 2,323

b. 3,223 d. 3,213
8.74X26=

a. 1,924 c. 1,984

b. 1,664 d. 2,924
9.81X35=

a. 2,855 c. 2,835

b. 3,835 d. 2,825

10. 6,144 X 4 =
a. 24,566 c. 23,376

b. 24,476 d. 24,576
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